Drawing

«D H E N D I Batch # Appliance part#
663194 until 227060
Hendi B.V. HKO077119
Steenoven 21 Description
3911 TX Rhenen .
The Netherlands Convection Oven H90
Date 29-04-2021 [Revision # [1.0

Revision [First Bill of Materials (BOM)

Page 1 van 3




Bill of materials (BOM)

“D H E N D I Batch # Appliance part#
663194 until 227060
Hendi B.V. HKO77119
Steenoven 21 Description
3911 TX Rhenen .
The Netherlands Convection Oven H90
Date 29-04-2021 [Revision # [1.0
Revision |First Bill of Materials (BOM)
Item Description Part# | Quantity Remark Picture
1 Door assembly complete 942901 1 Incl item 2,3,4,5,6,7,8,9,42,43,44
2 Door glass nss 1 Available as 942901
3 Plate screw 4.0x8mm nss 2 Available as 942901
4 Door frame (left/right) nss 2 Available as 942901
5 Hinge 942918 2 Also in assembly 942901
6 Countersunk screw M5x15 nss 2 Available as 942901
7 Bracket handle nss 2 Available as 942901
8 Inner door glass nss 1 Available as 942901
9 Plate screw 4.0x8mm nss 8 Available as 942901
10 Knob thermostat 225349 1
11 Bolt n/a 2
12 Indicator light green 942925 1
13 Indicator light green 942925 1
14 Knob timer 225349 1
15 Bolt n/a 2
16 Display panel n/a 1
17 Bottom cover n/a 1
18 Timer 120' 942932 1
19 Feet 942949 4
20 Plate screw 4.0x8mm n/a 10
21 Hi-limiter 942956 1
22 Equipotential terminal n/a 1
23 Cord inlet with retainer 942963 1
24 Power cord 930045 1
25 Bracket n/a 4
26 Oven chamber n/a 1
27 Holder hinge 942970 2 (2pcs as one set)
28 Truss screw M5x10mm n/a 4
29 Insulation n/a 1
30 Insulation n/a 1
31 Housing n/a 1
32 Back cover 928103 1
33 Fan motor incl fan 942987 2
34 Door gasket 943083 1
35 Lamp fitting n/a 1
36 Light bulb 15W 904947 1
37 Lamp cover 942994 1
38 Element 230V 1260W 943007 2
39 Bolt M5x15 (for lateral support) 943014 2
40 Deflector plate n/a 1
41 Lateral tray support 943021 2
42 Glass plate holder nss 2 Available as 942901
43 Door handle 943038 1 Incl item 7,8 also in set 942901
44 Countersunk screw M5x70 nss 2 Available as 943038 and 942901
45 Thermostat 943045 1
46 Metal Ring n/a 1 * Not shown on exploded view
47 Tray 943380 4
n/a -> not available nss -> not sold separately

Page 2 van 3




Circuit diagram

qp HENDI GGEE;C:ij Appliance part#
227060
Hendi B.V. HK077119

Steenoven 21
3911 TX Rhenen
The Netherlands

Description

Convection Oven H90

Date 29-04-2021 [Revision # [1.0
Revision |First Bill of Materials (BOM)
- S1 = FTr‘_T“w Szl?l
— \\_V_/ i
—-HL1 —-EL -HL2Z | —-EH1| —EHZ2
R X D & < H B
N =
E o
S1: Hi-limiter

PT: Timer 120’

HL1: Indicator light

EL: Chamber light

M1, M2: Motor

S2: Thermostat

HL2: Indicator light

EH1, EH2: Heating element

Page 3 van 3




